H AR;;MFC3FPE|QE 2

IS ARy
N ; B & fpm et 8§ fewa 2 2

(1) wHeag

(2) wiEmEmR

(3) W@

(4) T (¥amq)

(5) 3T T e

mﬁmmiﬁmaﬁ??
(1)~ 1968

(2) 1965
(3) 1966
(4) 1967

(5) 3w Zm =

afrmon % 9o SR 1 # 2
(1) =T THE

(2) ifia Fun

(3) @ feur 3mar

(4) faq 9red

(5) IR A &1 ATRd

Golgy aifRe TEGRI (3T

Nahar Wildlife Sanctuary is situated in which

district of Haryana ?
(1) Mahendragarh
(2) Faridabad

(3) Rewari

(4) Nuh (Mewat)
(5) Not attempted

When was the
Commission established ?
(1) 1968

(2) 1965

(3) 1966

(4) 1967

(5) Not attempted

Haryana Public

Who is the first Lokayukta of Haryana ?
(1) Babu Parmanand

(2) Ranjeet Kumar

(3) Nawal Kishore Agarwal

(4) Pritam Pal

(5) Not attempted

Panjokhra Sahib Gurudwara (Ambala)

dedicated to the memory of ;

(1) Guru Sri Harkishan Sahib ji

(2) Guru Hargobind
(3) Guru Tegh Bahadur

(4) Guru Gobind Singh

(5) Not attempted

The East Jongitude extent of Haryana is :

(1) 71°28'to 77°36'
70°28' to 7 7°36"

(2)
tO 77036'5"

3 T4°27¢

@ 77°28' to 84°38

() Novatempted

Download from www.MsEducationTv.com
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10.

g anfifes wdsm (2021
$a fhat u-smrm @ 2
(1 74

(2) 23

3) 82

4 92

I FE 3 A
BT ® uied oed WA el B Fo gew e
22
(1
(2)
(3
(4)

(5)

22) & rpun gfamn |

20,552
16.552
17,552
18,552
I TE &A1 =Ted

faetg 3§ 2022 - 23 % BREN T a9 § FN F &
T =7 ¥ fou 39 9 # fhan wfowa feifa e
™™g ‘

(1) 98%

{fl 6-2%

(3) 57%

(4) 43%

(5) TR 8 & 9w

FTiés FEEAW (2020 - 21) F FFER R Hi wfd
=% arfis @ fEad 2 2

(1) ¥ 2,35707

(2) ¥ 1,85,630

i'3-) Z 1,90,950

(4) ¥ 2,90,630

() T7 77 Z3 9T

oA 4 @A g, @4 dgin” @ guny e
g faan w2

(1) 4 ™ 79 #:faz

(2) ot qig aé

(3) A gaET AT @9

(4) f F=m faz add

(5) I A 291 |rEd

6.

ARAM/C3/Page 3

10.

i in
How many Sub-Treasuries are there i
Haryana according to the Haryana Econo

Survey (2021 - 22)?
(1 174
(2) 23
(3) 82
(4) 92
(5) Not attempted

What is the total number of registered Atal
Service Centres in Haryana ?

(1) 20,552
(2) 16,552
(3) 17,652
4) 18,552
(5) Not attempted

What percentage of its total expenditure has
been allocated towards Agriculture in Haryana
State Budget for the financial year 2022 — 2023 ?

(1) 98%
(2) 62%
(3 57%
(4) 43%
(5) Not attempted

What is the per-capita annual income of Haryana
as per Economic Survey (2020 - 21)?

(1) < 2,35,707
(2) ¥ 1,85,630
(3) ¥ 1,90,950
(4) ¥ 290,630
(5) Not attempted

“Beti Bachao, Beti Padhao” was launched in
Panipat by

(1)  Shri Ram Nath Kovind

(2)  Shri Narendra Modi

(3)  Shri Manohar Lal Khattar
(4)  Shri Kaptan Singh Solanki

(6)  Not attempted

% &1 & feru TuT | SPACE FOR ROUGH WORK
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1. “areeft amfie guan wen A’ e 6w

(1) 1993, 2006
(2) 1598, 2005
(3) 171, 2006
(4) 19, 2005
(8) I F 3 =red
12, =hamn & gfafie wid 4 vde % e % R 1923

i wae-ngd F iy e R Sffen o 6
TATqHT FY 2

(1) 3¥egd THFER @H
(2) U9 gemm

(3) ufsa Fhiem wmwi

(4) =B

(5) I & A1 =Eq

yfag s@s ueier ¥ e UK @S g i
BAOIUST & vieg & Haltyq fhar 2 |
(1) 3=

©2) F% I

(3) &ftaTh

(4) EfE

(5) IR TEI &A1 =mEd

zfemn & yafer ‘@fen’ shig 3 w1 @ mEieE
e w9 & fory e T o @ 2

(1) @ Arg & '

(2) Erefl % B W

(3) &= FTH W

(4) fTaamE & FEW T

(5) v T ¥ A

15. zhamn & #A-a e guE (qaeht TEA arer T1E)
¥ forq yfag 2 7

13.

14.

11.

12,

13.

14.

15.

“Ladli Social Security Allowance Scheme” -

launched on :

(1) 1%t January, 2006
(2)
(3)
(4)
(5)

18t January, 2005
18t March, 2006
18t March, 2005
Not attempted

Who founded the ‘Zamindar League’ along wit,
Fazl-i-Hussain in 1923 to spread the reach of th,

Unionist Party in Haryana ?
(1) Abdul Ghaffar Khan

(2) Rao Tularam

(3) Pandit Nekiram Sharma
(4) Sir Chhotu Ram

(5) Not attempted

The famous writer Dharnidhar in his book
Akhand Prakash addressed the State of Haryane
with the word

(1) Aryana

(2) Kuru Jangal
(3) Haritanak

(4) Haribanka

(5) Not attempted

On which occasion is ‘Khoriya’, the famous di*
form of Haryana most commonly performed ’

(1)
(2)
(3)
(4)
(5)

In the month of Saawan
During Holi

On child birth

On the occasion of marriage
Not attempted

. 51'1'[1
Which district is famous for ‘Surahi’ @ ¥

necked pitcher) in Haryana ?

(1) e (1) Fatehabad
(2) Gurugram
(2) TRA™
(3) @ (3) Rewari
(4) m (4) Jhajjar
(5) IR A & A (5) Not atM

ARAM/C3/Page 4

Download from www.MsEducationTv.com

T @ % fere TuT / SPACE FOR ROUGH WORK



16. wdewl &1 aadv A3 - Ml fRew, #Ramon ¥ fw |16, Morni Hills, a tourist attraction point, is situated

S dfeme? in which district of Haryana ?
(1) =6l TR (1) Charkhi Dadri

(2)  SEFa (2) -~ Panchkula

(3) sfig (3) Jind

(4) 3T (4)  Ambala

lflﬁ IR 98 21 9@ (5)  Not attempted

2 . 17.  Where is the Rajiv Gandhi Renewable Energy
17, Tofia it vy it vk gfemon  wei o 2 9 N N Sy

Park situated in Haryana ?
SO L (1)  Sonipat
@ N (2) Panipat
(3) W (3) Gurugram
@) R (4) Faridabad
(5) I T 1 =

(5) Not attempted

18. Ff@mn # spraeh ) vafed 1 gl EC PR 18. The highest elevated area of the Aravalli hills in

(D ﬁmﬁmﬁﬁ(ﬁmﬁw) , . Haryana is

2) Mﬁq@%ﬁ(mm) (1) Mewat Hills
) meaents m e
4 fewn i varfeat (v fiem) s “p:a Hj‘;ls
(5) 3 I = ==y

(5) Not attempted
19. #arn #1 g% o w1 fen e FR $ siiq

e 19. What percentage of the total land in Haryana
Y | ‘ :::)mess l;;der agriculture ?

2) 70%

@ 6% (2) 70%

g (3) 76%

&) T e 4) T7%

(5) Not attempted

20. =ﬁmn nia F TEA A A v (3ragfd) F vomn 20. The first Grain ATM (Annapurti) of Haryana
feem ﬁm H §é ? State has been set up in which district ?
1) F=gen (1) Panchkula
(2) wrfioa (2)  Sonipat
(3) T (3)  Gurugram
(4)  FJqAE™ (4)  Yamunanagar
o (5) 39 & 21 =rEq (5) Not attempted
ARAM/C3/Page 5
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i f Haryana is ag,
f Mgar & 21. Which dance form o
21, SR & fu gt &9 @) R figa’ & am 3 o

kngy,, .

‘Haryanavi Gidda’ ?
S SR 2 (1) Ratwai g
(1) Warg @) Swaig
@ (3) Gugga
3) T (4) Jhumar
) W (5) Not attempted
0 22. Who among the following is known te
22. TP 3 QW ‘gheaon S F T & S 9w # o Habging Hitvicand 3 |
(D B 3w (1) Kapil Dev
(2) =g eh (2) Mansoor Ali
3 fooig i (3) Vijender Singh
4) g FR (4)  Sushil Kumar
(5) I & T 9=y _ (5) Not attempted
23. TN H I et ffer e w1 ey g CERIPYY Nirmal Gulia from Haryana is associateq with
?? which sport ?
(1) e (1)  Handball
(2) (2) Hockey
3) T=fesa/smm (3) Gymnastics 3
@) = (4)  Judo
fé) I T S = (8) Not attempted
24, Frafofea 4 3 B ¥ fg =t + amhe w4 |24. Who among the following personalities @
F 3§ 2022 ‘T2 oY T 'Sﬁﬁ ot T 9 Haryana received the Padma Shri in 20221 the
0 Tﬂ'aﬁ ot field of Social Work ?
- 5 (1)  Raghuvendra Tanwar
i HTF{ B (2)  Moti Lal Madan
9] iKY (3) Neeraj Chopra
@) 3w S . (4)  Om Prakash Gandp;
8) 3 o e (5) - Not attempted
25. T F9d1 1 AT 9 gfemon L .
ER

S i
(2) wIfdes & <Hzumm 4
(3) 913 % Hguy 4§
(4)  Avam % wizuw |
(5) I 9@ 21 =Ea

Gugga Naumi fe
Haryang in

(1)
(2)
(3)
(4)
(5)

rel
Stival is celebrated all OV

'
the lunar month of Phalgun
the lunar month of Kartjk
the lungy month of Bhadon
the lung, month of Shravan

ARAM/C3/Page 6
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26. Rearrange the following parts of a sentence |Read the following passage carefully and answer
labelled ns PQRS to make a  meaningful questions 29, 30 and 31.

sentenee. . . s H
sentence et | Street theatre in India is a well-established
) AP ks a blessimg ang : . . .

P. power to work is a blessing ancient art form. Despite the proliferation of

Q. let us realize that the privilege modern means  of  entertainment  and

R. the love of work 1s success communication, street theatre continues to
S Vo e flourish in India.

(1) QRPS Street theatre as a channel of communication has
2 SRPQ for centuries been propagating reforms by
— _ hlghllghil:mg social, economic and political issues
@ S present in the society. Unlike in the olden days,
4) PSRQ its performance is no longer restricted to villages
(3 Not attempted or small localities of the city. They create or raise

awareness over a particular issue of public
27. Choose the correct passive voice form of the importance,

following sentence.
29. In old i
Bring a cup of coffee. n olden daﬁi‘, .Street theelatre villages
. or small localities of the city.
(1) He requests you to bring a cup of coffee. () anteviained
(2) You are requested to bring a cup of coffee. fé) was restricted to
3)  Let a cup of coffee was brought. ‘ (3) was not restricted to
‘4] Letacup of coffee be brought. (4) was opened to
5) Not attempted _ (6) Not attempted

28. Pick out the part of the following sentence which |30 Modern means of entertainment and

has an error. If there is no error, your answer is communication__ street theatre.
(4). (}) helps establish
One of the state in which ' (2) does affect
A (3) does not affect
Satyagraha was offered was Rajkot (4) helps popularise
B (5) Not attempted
where he spent his youth. : ith issues of
C 31. Street theatre usually = WEREE

public importance.

. (1) does not deal
~{ (2) s distanced
. (3) is pcrlhrnmd
i (4) deals
(5)  Not attempted ) iﬂi’_ljﬂj‘_“_"_pﬁ‘:"_’, -
e T T4 % feru T | SPACE FOR ROUGH WORK |

S
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35.

Choose the correct alternative to improve {he
underlined part of the following sentence, If g
improvement is required, your answer is (4),
Don't judge each day by the harvest you reap hut
by the seeds that are planting.
(1)
LY
(2)

W

that you plant
that will be plant
when you plant

4)  No improvement

(5)  Not attempted

Fill in the blank with the suitable Preposition,
The boy red hair is my brother.

(1) from

(2) of

(3) for

(4) with

(5)  Not attempted

In the following sentence, a word is ﬁnderlined.
Beneath the sentence, four different ways of
phrasing the underlined word are indicated.
Choose the best alternative among the four,

36.

37.

38,

“Despite losing a lot of money in the stock market,
crash, Suresh remained unphased.”

(1)  unfizzled

(2)  unfazed

f3HJ unfaced

(4) unphazed

(5) Not attempted

Find out the correct indirect speech of the
following sentence.

She said to her father, “Will you give me
sweets” ?

(1) She has asked her father if he would give
her sweets.

(2) She requested her father to give her sweets.

(3) She requested her father if she would give
her sweets.

(4) She asked her father if he would give her

) sweets.
(5) Not attempted

39.

40.

Pick out the correctly spelt word.
(1)
(2)
(3)
(4)
(5)

nuigence
privelege
familiar
usualy

Not attempted

Pick out the antonym of the underlineg Worg
the following sentence.

A little learning is a dangerous thing,

(1)
(2)
(3)
(4)

(5)

smooth
innocuous
devilish

plain

Not attempted

Pick out the synonym of the underlineq warg
the following sentence :

The child longed for the mother’s love.
(1) refused

(2)  craved

(3) shouted

(4) fell

(6) Not attempted

Pick out the correctly spelt word,
(1)  intitutionalize

(2) intutionalize

(3) institutionalize

(4)
(5)

instutionalice

Not attempted

Pick out the correctly spelt word.
(1)
(2)
(3)
(4)

(5)

suggession
sugestion
suggestion
suggesstion

Not attempted

ARAM/C3/Page 8
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41.

s’ & fo wale swge walaardl wsg &1 wm

45,

S TR

Fraferfaa fabed 4 & wom & gitfem fame

$ifau | T 1
Ay s (1) 31 = atfae, foen, gfemaren
@ wefy (2)  3F =1Ew, Mi&q, gan
3)  *ed (3) 9 =\, =, AEH
(4) Hdve ” ;
(5) IR T T wgd ik R )
(5) I 7 M =R
42, F=fefes 7wl § & swma gm &1 =999 Fifsg |
1) FRE A ISTE T — Ik | @ Fmin AW o
( = fere TR w12 1w Jwges faetm vz 9w |
) s =t W § = aen — sEate 1) &R
(3) AT TS W FW HW Al — TESEHY (2) W
w=sE .
@) e
(4) vEd & o yfr — Fw (4)
(5) IR FE 1 IR (5) IR TE & ==
43, T=fafas s : '
RRRALRLE LR Ch | P S S
=77 Fifu | . . By
(1) s
o # 2) g
cg— (3) g
(4) FHEAEH @ P
5) v (5) IR &l & =Ed
44, “wE wEE w2 #1 S e d B, U e
(1) W ufe il
(2) W% 9fw = E‘;jﬁ
(3) Wtk % wgER ¥ ;
(4) =S
4
_ (5) IW A & amed
ARAM/C3/Page 9 T @ g T | SPACE FOR ROUGH WORK
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53. ﬁmﬁfﬁaﬁﬂﬁﬁqﬁmﬁmamij%
Jarew yafera 787 & 2
(1) v — ggE B ded w5
safiar), 9 | ’
(2) "HR — Fen wEmen i ogmo oun
-faft &z
@) ®F — Do hum = gEER gu i
oSG A |
faen & <@ faocht &1 g
50. weEsHl, WeEIH! AN YIEET Wit § iR % - AP S
TR ¥ uig & vam R e (4 3w — e uE wiE e e
(2) ®IF 9
@ Sowis wg 54. ‘Hiffum wpiet e & anft s R ) e § it
(4) THE uig ez, 1 3uer! ey v |
(5) IR AE AT =TEA (1) agwa, deam 3R feef sgad
(2) wgwa e
51. ‘wE Twae de = e Sfsm g wa ) 3)  eaw Iva
- T IEE | el I9gw Y =@y | @) fref sge
1) ¥Em &[0 W/ =d A PN G-
(2)  wEm = =99 4 9 &
(3) Tofem w1 @aa g™
» zﬁq@ag?:ln 55. frm-fam 6 3t @ g ag w1 993 5T
i . (1) w0 3 oY, = Afgs 2, swed 0 D
(5) e TE A AED i
(2) A P, st s Aflgew R, siewa U GEH
52. ﬁmﬁhﬂﬁwﬁﬂﬂm%wmaﬁqﬁﬁgl Y Rra @R
(1) = 3 A0 fm N uw Al R, svows uw g ©E
(2) =% R
(3) @M 4) W fim S uH, A B, sowa wH TP
(4) #ha ISICREIE W
(5) I A# T =red (5)  Fat Ad 2 =@Ed
ARAMIC3IPage 10 T Tl @ fere vamE SPACE FOR ROUGH WORK
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56.

o
=1

58,

A7 wudl & g A9 Py fqv e & | wmea: W
aeat & i @ g0 ) Swdl ) g Jed ﬁt{arafm
e & afbs sv 4 SR PBssd Be no e
A Reaa/fRead €

3o A il ¥ ) T,
Fo gl gam d | L
) e wat §

D FOFRATE | ¢

(1D @wﬁﬁﬁgp
dID $& yem FHidar § |

Fa9 11 e € |

e 13 11 frwerd § |

T 13K 11 froperd 3 |

S 11 3R I freer § | |

ST T 3 =

P

(1
(2)
(3)
4)

15)

Tfefaa § 3 s fimgo
(1) 9,18,27
{2) 6} 91 18

3) 7,14, 21

(4) 8,16, 24

5) I 4 o wmy

(4)

(5)

56.

57.

(.- —

ARAM!CS!Page 11
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58,

Three statements are

followed by three
conclusions. Take the statements to be true even
if they seem to be at variance from the commonly
known Decide which of the given

conclusions logically follow(s) from the
statements.

facts.

given

Stateme;us :  Some tables are chairs.

Some chairs are beds.
All beds are rooms.

Conclusions : (1)

(IT)
(I11)
Only II follows.

Some rooms are tables.
Some rooms are chairs.

Some beds are chairs.
(1)

(2)
(3)
(4)
(5)

Only I and 111 follow,
Only I and I1 follow,
Only IT and IIT follow.
Not attempted

Find the odq 6113 out,
(1) 9,18, 27

(2) 6,9, 18

3) 7,14, 21

(4) 8, 16, 24

(5) - Not attempteq

Pointing out ¢, a lady, Raja said, “She is the

daughter of the woman who is the mother of the
husband of my mother”

(1)
(2)
(3)
(4)
(5)

. Who is the lady to Raja »
Sister

Aunt
Daughter
Sister-in-law

Not attempted

Download from www.MsEducationTv.com




59.

60.

61.

HaR E

FoafaRaa aroft ¥ srar o 3a& wen g2 fRo o #
| X M
ﬁt&ﬂiﬁal 1| 2 4 7

P R S5 T

9 3 b

A ug wa o @ Peafafea 8 @ @
fA®cy "EMRS &1 Ud) feag ®4 R |

(1) 1937
(3) 1793
(3) 1973
4) 1925
(5) IR FE AT =rEd

S §9 9o P ‘Q TH % 5 IAN-3AT ® h
S H IHaT R | 98 ‘Q ¥ ‘R’ a3 FAeT-ITel € a1
R Y ‘S dF 2 AET-31 &2 % g8 § A1 & | 98

P S % fRad T H IR F AT ? ?
(1) 16

(2) 10

3y 20

(4) 30

(5) = AEI &A1 =mEd

qﬁéﬁqr&m%aﬁwﬂﬂﬁﬁmmm

59,

60.

61.

62.

=13 w52 1 WA ST |
CONSOLIDATE
(1) DETAIL
(2) NASAL
(3) LOCAL
(4) LENTIL )
(5) TR AE A S & wd
= #1 13114716
- ardi q M—ANGO e
6. =tz R B2 iﬁ,ﬂaga“m“”(}qua
295 fea ST %, ’
B Tar” fagan T 2
(1) 697620
() 696819
(3, 697819
(4) 69TH20 .
- #A
5y T AH N AMT i fom
— Page 12 o 3 ‘-d
ARAMIC 3/Page f

|~

Letters and their number codes are

following table : BIVen in the
oo &% ¢ [w[R]3]7

Number Code a. | | TR s
rCode | 1 2 14 l_?__g_L.iLﬁ

You have to find out which of the alternativeg
has the correct coded form of ‘EMRS’,

(1) 1937
(2) 1793
(3) 1973
(4) 1925
(5) Not attempted

A bus driver knows five different routes from a
place ‘P’ to ‘Q. From ‘Q’ to ‘R’ he knows three
different routes and from ‘R’ to ‘S’ he knows two
different routes. How many routes does he know
from ‘P’ to ‘S’ ?

(1) 16

(2) 10 -

(3) 20

(4) 30

(5) Not attempted

Find out the word which can be formed by using

the letters of the given word.

CONSOLIDATE
(1) DETAIL
(2) NASAL
(3)  LOCAL
(4) LENTIL
(5) Not attempted
1f MANGO is coded as 13114715 in a certai? god®

i t
language, then how will FIGHT be coded in tha

same code language ?

(1) 697620
(2) 696819
(3) 697819
(4) 697820
(5) Not at ﬂt‘ﬂ,‘f"_ﬂl_—-——-————'_’_'_'_;r-

gt | SI’_;&CE FOR ROUG: WORK

q13d°

i n
HlJKL‘g

>

i
[HS( per a

a
P «
,1..54\\ v 5 ® 'y

“

¥
13 Ja

s
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63,

Select the combination of numbers so that the

63. R fipu o A TH arele Yeg SR 9 U letters arranged accordingly will form a
T meaningful word :
NTEROM
1 2 345 6
(1 6,5,4,3,2,1 g R
@ 2,5.6,3.1,4 B8RRI
(2) 2,5,6,3,1,4
3) 6,3.2.1,4,5 @) 632145
@ 6.8,1,2,5,4 nenNToOR 4) 6,3,1,2,5,4
(5) IR T <A =IEA (5) Not attempted
g4, Fefofea A s o fimd ? 64. Find the odd one out.
(1) ZERO (1) ZERO
(2) CARE (2) CARE
(3) PALE 3) PALE
(4) STAR (4) STAR
3) T (6) Not attempted
65. T we fawes 1 wua Hifm R den vz gt vz |65 Choose the correct alternative which is related to
ﬁwm%éﬁfﬁaaﬁ‘rﬁﬁ-?@uwmﬁzﬁ the third term in the same way as the second
e - term is related to the first term :
e - 3 < et < 9 Sheep : Lamb : : Butterfly : ?
@ B (1) Nymph
R T (2) Tadpole
(3) Larva
(3) <ma (4) Caterpillar
4) 3@ (5) Not attempted
(5) W FE N A
. 66. Choose the correct option in which two terms of
66. mﬂﬁﬁmmiﬁqaﬁﬁqﬁuﬁ@q%aqﬁﬁ thepairarerelatedpinthesamewayasiﬂthe
few 0 g %1 7z vt A pair given below :
A1By:C3D, Ay By 0, Dy
(1) GysHyg:117dg (1) Gy HygiTigdig
2) W5Xg:Y,2Zg (2) W5Xg:Y,%Z
3) P1gQ7:RigSyg (3) P1gQq7:RygSyo
(4) Mj;Njy:0,5Py, (4) My Nyp: 015 Pyy
\__-_r_5_, I A 241 AR (5) Not attempted [

ARAMIC3/Page 13
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67.

69.

70.

R Wi
ARAMIC3IPage 14

j1%1%gq;dﬁﬁﬁmmnaﬁaﬂigaﬁﬂam
© 1A Yot % usaw el ain A R | w0 P
Hiy «Q_drasﬁfaamamaﬁxmzmﬂm%amm
PR b w1 3 AR R ) ehtar H aw aT A3 § 2

(1 s am am

(2) e SR
3) 99 3R HHeA
(4) Yw 3k am
(5) IR & 7 =

S fed fefie e w1 Qo wQ @ e |

W*{ﬁ‘g

(1) H1A U TF 8 R TH W g §59 =5
HET |

(2 A il & @iy srEg o |

(3) f&omsa & wrepfas war I Yae] H gal
AT |

(4) W& &1 3R T @ SeT ¥ FAaud H AAS
TodE
(5) I AEI &A1 =T

fraffaa g g@en § y@ faw () F WH W
-t "en e ?

99, 80, 63, _? _, 35, 24, 15, 8, 3, 0
i 1 L] 4 5 1
(1) 42
(2) 38
(3) 58
(4) 48
(5) e Al g =

ﬁmmmﬁmﬁm?)%mw
. den w ?

67.

69.

70.

-

Five persons are sitting in a row facing y
Sunita is sitting to the immediate ﬁght"
Pankaj. Kamal is sitting next to Raja Why |
sitting on the extreme left and Tara is not ‘i-tt;r'
next to Kamal. Who are sitting adjacep,

Sunita ?

(1) Raja and Tara

(2) Kamal and Tara
(3) Pankaj and Kamal
(4) Pankaj and Tara
(5) Not attempted

When you visit any historical place, you try to:
(1) just pass time moving from one place
another.

just enjoy with your friends.

explore the cultural or social aspect of (!
design.

take pictures and enjoy a break from
monotonous life.

Not attempted

(2)
(3)

(4)

(5)

What will come in place df the question mark
in the following number series ?

99, 80,63, _2_,35,24,15,8,3,0

42

38

58

48 .

Not attempted

(1
2)
(3)
(4)
(5)

What will come in place of the question mark !’
in the following numerical series ?

14, 19, 35,59, _2 |, 179, 299

14, 19, 35,59, _2_, 179, 299
y 129 (1) 129
(2 131 (2) 131
(3) 130 @) 180
(4) 132 5 i
e #4121 A (5) Not attempted

(5)

94
‘)’/\‘, (

o
KR ¢ 5

% @1 @& e T | SPACE FOR ROUGH WORK
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o

. ofte AR & Ak A Foalaled 3 @ SH-wA waa
w7
(@) TE T T TS & dgd g Rl W A & ol A
a1 9% ! AR Bl GG 2 |
(b) SE TR F T AT 9L 1 U @gdl B |
© TFS N A s () F g grn S
A= g Fe A wd fwew w1 99w Hift
(§8) é‘ﬁam
\‘2‘1 (a) @1 (b)
Q) (b) T (e)
4) a9 (a)
) I T 3 e

F1¢ 7 3 Fehe A 9 et o) § ok S 5 Febe
23 9 N g 7 Fll R | 39 9%g A ofwa vy =

(5

-3
| &1
.

71.

Which of the following statements is/are correct
about Apical Meristem ?

(a) It is present at the growing tips of stems
and roots and increases the length of the

stem and the root.

(b) Due to this the girth of the stem or root
" increases.

(¢) It is seen in some plants and located near
the node.

Choose the correct option from the codes given
below :

(1) Only(e)

(2) (a)and (b)

(3) (b)and (c)

(4) Only (a)

(5) Not attempted

Download from WWW.MsEducatio\nTv.com

2 2 72.  An object travels 9 metres in 3 seconds and then
@) eyl die another 23 metres in 5 seconds. What is the
; average speed of the object ?
2 3 vfy d%e (1) _Ggemjzee J
3) 4 v debe @ 3ms o
(4) 5 i Fehe () 4mss ”
(5) I :l.g i:" m (4) 5 m/s
. (5) Not attempted
73. fova 3iEm fam, 2022’ 1 fwg-aeg @ d 9
1) R e @ 30 : e T 3 R 4R 73. What is the theme of the ‘World Ozone Day’,
o E 20227
. (1) “Delhi Protocol @ 30 : Protection of L;
o . ) : on of Life
2) e ﬁlima, @ 36 : A e F forw through Global Cooperation”
e ' (2) “Rio Protocol @ 36 : Global Cooperation for
(3) “ariifeafdy % wE F fiy ifae e Protection of 0zone”
(4) “‘q‘ff%q-a irac ot @35 : g W e dEm (3) “Montreal Protocol for Protection of
" . : 4) “Montreal Protocol @ 35 Global
(5) == 3 &1 ( -
] ol TR Cooperation Protecting Life on Earth”
., mAAH " (HTTPS) &1 feaufi ¥z 3 (6) Not attempted
FAZAAE A T w I fF SH |74, HTTPS is an acronym for _, which should
e | _ be used while entering sensitive information.
1) o e A P e dFa-q (1)  Hyper Text Transfer Protocol Sequence
) #m S T it (2) Hyper Text Transfer Protocol Secure
3)  waw g Z1afasm i 9 (3)  Hyper Text Transmission Protocol Secure
(4) . - . (4) Hyper Text Transmission  Protocol
AT %ﬂz gqu:rm PIEACA I E5 = | Sequence
KE;"@ W TE &1 wea (5) Not attempted
WC3/Page 15 TF &1 & feru Tar | SPACE FOR ROUGH WORK




75. T 1960 ¥ Twud ol WRWIY AW & Av U W
T A & foe Frafafea 3 & B o= & @ uei
H & A o 2

6.

‘

Which among the following States in 1960 ,,
bifurcated to create two new States of G!Jja:’
3

and Maharashtra ?

(1 R (1) Nagpur
(2) W (2) Bombay
3 HERET] (3) Ahmedabad
4 T (4) Daman
(5) I FE A =9 (5) Not attempted
76. fr=fafes 39 & A, wfkensti < sagH %1 3fbsR 23|76,  Among the following countries, which was t;
e JAfad W P AT ? last country to give voting rights to women ?
(1) o4 3" (1) Saudi Arabia
2) =R (2) China
(3) uifeeH (3) Pakistan
(4) AfEgs (4) Mesxico
o m (5) Not attempted
77. With whom is the Cash Reserve Ratio (CR
77. @7 FfEa AuE (deTR.R.) it feas aE @ kept?
AR 2 '
(1) Finance Commission of India
(1) o7E %1 fo| smam .
) (2) Comptroller and Auditor General of Indiz
(2) WE & s iR maerE s
£ (3) Reserve Bank of India
@) ' (4) International Monetary Fund
FHaga HY
@ = (5) Not attempted
(5) I TE 2 AT
" 78. Which among the following countries ranked ©
ng. Trafefen & @ A 2@ 3 “emm FA H W@ F highest on the “Ease of Doing Business” Index.
mﬁmmzomﬁmmmﬁmi? 2021 ?
(1) W (1) Portugal
(9) WmA (2) India
(3) e AC] (3) China
o 'J{_’ﬁﬁ?‘ (4) New Zealand
(5, ¥ AA Zoa1 | (6) Not attempted
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h hod t}
i 1 i f the sorting method that
Fiffestor gigs ol dwdl |79, What is the name o ‘
79. 3 W sy _ 3 a: ;‘z T;Q el refers to sorting a given list of clements
£ @ gf o gl + il q’; —- swapping them if they are unordered 2
s} argen-ageh A wehfa ? 2
Ay (2) (1) Deque
. frdev wid (2) Selection Sort,
2)
‘ It (3) Insertion Sort
(3) sl e stoi
(4) I | (4)  Bubble So
(5) I AE 3 |E (5) Not attempted

' 80. Which of the following network device extracts
80. F=ferfiEs # @ BT Yeadh Iy o1 Fde @ gy

the destination address from the data packet and
qar (u3w) fererar ® sk T & e § @ R looks it up in a table to see where to send the

Tz F FEl A I IR Faw Ruife ITHN Y packet and sends signals only to

selected
e a2 devices ?
(1) T3 (1)  Gateway
(2) = (2) Hub
) &= (3) Switch
@) ® (4) Router
(8) 3 & a1 | TRy

(5) Not attempted

' _ 81. Which of the following options lists all devices
sl.ﬁn%iﬁaﬁa%qﬁmﬁﬁqnqwm e

. - used for output from a computer ?

et i VoRSEE) i §e (1)  Flat panel display, Plotter, Barcode scanner
W e e e, iy, e e ! !

(2) & fiem, HAfZher aﬁ'ﬂa'ﬂgt, e @ ;:‘391' printer, Optical character reader,
(3) é’iﬁﬁz{, . ﬁZT, - otter . ‘ |

@) iR ey TH, S W (.3) Laser printer, Inkjet printer, Scanner

(5) 3w 5 Ecf EIEG (4) LED display monitor, Inkjet printer, Plotter

(5) Not attempted

Zxits nfafafy 3 | 82. Which of the following lakes is the result of

sz.ﬁnf%ffigaﬁﬁmh-m‘sﬁa‘
Ty

AR 2 tectonic activity ?
(1) FeE oe (1) Kolleru Lake
2) AW g (2)  Sambhar Lake
@) faferm =ie (3) Chilika Lake
D g (4)  Waular Lake
—_5) I 291 1 (6) Not attempted
ARAM o
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sa.

85.

FHAMIC3/Page 18

foafeiga 8 Q@ - wsg anrdla afaua 6
wrdtaar 3§ 42d §euE gRI 1976 0 e e 2

At amdad
) \J‘{\“ ﬂ‘ﬁi

() AlhdFTeHS

@) vafans
fra o e e A 9@ Facy & aad K
G @9 (d)
2 &ad (b
3 ) T (¢

L ) T b)Y

50 IV AE & ST

=ie TEm Q4 wfwensi & e sifufEm, 2005 %
== 3, F=fafea § & $F-w w97 @ 757 2 2

1 e stutyEm @9 viww S @ w1 w aEmR
qEATR |

2, 7z wfufEy offensi & wiie o aifas
STEeT 21 A GO T # |

3 =7 sfufrm Fad Jarfes dEdl S @O A 2
727 ‘fofa-s7’ el H1 S e T g |

(1) =z wHufFam nfds wwo #t wme B w1 o
FER "4l 2 |

5) I A ZA1 9mEd

s mzam dmed  (vAHE.) weE TS %
Soirem Fara 1 23 fgaw, 2022 ) G@UR g4 Jret
yof Gz Fl arntaa £ A 2

1 ArATA
s
3 AV

(4) Hm@

(5) 37 A 241 HJeq

Hil.

b

Which of the following word/s was/were addedh '
the Preamble of the Indian Constitution in 19 !
through the 427 Amendment ?

() Socialist
(thy  Sovereign

(e) Democratic

(d) Secular '
Choose the correct option from the codes give,
below :

(1) (a)and (d)

(2) Only (b)

(3) (a)and (c)

(4) (c)and (b)

(5) Not attempted

Which among the following statements is not
correct with regard to the Protection of Women
from Domestic Violence Act, 2005 ?

(1) Sexual abuse is considered a form of
domestic violence under the Act.

(2) + The Act protects women from both physical
and verbal abuse.

(3) The Act does not extend to ‘live-in'
relationships and only covers marital
households.

(4) Economic abuse is considered a form of

_ domestic violence under the Act.

(5) Not attempted

Where  was  the  20th  meeting  of

Prosecutors-General of the Shanghai

Cooperation Organisation (SCO) Member States
held on 234 September, 2022 ?

(1) Astana

(2) Tokyo

(3) Tashkent

(4) Kiev

(H) Not attempted

¥ @aa é?{-n? 714 | SPACE FOR ROUGH WORK
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daER T m%maf:ttaﬂamw:da’(tm%m 86.

Oranges are bought at 5 for = 10 and wold at
6 for T 15. The profit percent is :

(1)  50%
- (2) 26%
@ 2%
(3) 86%
13} 36%
40% (4) 40%
(; <o T &1 =R (6) Not attempted
(
P 71 o afis W F 15 ug w| 00+ If the simple interest on a certain sum for
o a 1 15 months at 7% per annum exceeds the
T ST, SH g W12 = % i = W 8 u 2
2 simple interest on the same sum for 8 months at
L .50 atfir EruRl 1 _
¥ = T 3250 LA (% &) 12—2'% per annum, by ¥ 32-50, then the sum (in
R T)is:
90 (1) 3,250
) | 2 3,000
@ 3980 (3) 3,060
(4) 3,120
" (4) 3,120
(5) I A& TN =

_ (5) Not attempted
88. ATH FE W 15 3 & qun B 3¢ht =+ 20 fm A

T TH R | AR 7w I e = m w5 4w
mm&i,ﬁtwﬁmﬁmqmmﬁt @ AR 2

88. A can do a work in 15 days and B in 20 days. If

they work on it together for 4 days, then the
fraction of work that is left, is

8 8
1 — =
) = (1) s
1 1
@2 = =
) - (2) 2
l
@[ — 1
10 B~ 3%
@ L 7
| 15 (4) &
| (5) I 7 2 ==y
(5) Not attempted
8. = g 4 o . 3: I
. T q et H w3 2 @ ¥IT | 89, The ratio of length and breadth of a rectangle is
afh 389 wimy AT A% | 5 : 9 o S ERIG % | 3 : 2 respectively. The ratio of its perimeter and
T e (dfer 1) 2 - area is 5 : 9. The breadth of the rectangle (in
- ’ metres) is :
(1) 13 : 1) 13
(2
) 6 @2 6
@) 8 (3) 8
4 9 4) 9
?‘__(_51 IR AE AT e (6) Not attempted
RAMIC3/Page 19 1% @14 % Ty vum | SPACE FOR ROUGH WORK
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Q0. plp A oA p d WA S3A-43 IH B 90, If [p] denotes the greatest integer less than o
M 8. equal to p, then
5]+ [s] e 3] [s5] -
w2 is equal to :
1 6 (1) 6
R 3 (2) 3
@ 4 3 4
4 5 (4) 5
(5) I aE & 9E (5) Not attempted
91. T TTH T TH TEA B 25 W 7 533 i gy may | |91+ A boy was asked to multiply a certain number by
Tadt 8, 35 T W 52 TN e Prew saw 25. He, by mistake, multiplied the number by 52
ToEE, TE e ¥ 324 afrw wig 3 | Tom and got the product which was greater than the
= T g@ ot ; correct product by 324. The number to be
1) 52 multiplied was :
2 12 (1) 52
3 15 (2) 12
4) 25 @ 15
(5) I A& 2 = (4) 25
(6) Not attempted
92. AR n H3 TF e R, @ SEASH wen 92. If n be any natural .numb;er, then by which
F3-H 2 598 (03 - n) w23 R 2 2 greatest number is (n3 — n) always divisible ?
1) .18 (1 18 '
2) 3 (2)
3) 6 (3)
4) 12 (4) 12
(5) I 781 221 = (5) Not attempted
93. y, (x+3)% I 2 A y = 88 T x = | 2 1|93. vy varies directly proportional to (x + 3)and y = 8
x=2% ﬁ"‘"{yaﬂ o w2 2 when x = 1. What is the value of y when x =2 ?
1) 16 (1) 16
2 6 (2) 6
@) 10 (3) 10
4) 12 @) 1=
(5) I iz wma (8) Netsmmmptes
ARAM/C3/Page 20 @ @14 % feru ¥aTA | SPACE FOR ROUGH WORK
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g4, TH QU AX A QU N H® Wit feren Brad 30 Ry )

94. A milkman mixed some water with milk to gain
&7 e W A T 25% AN LERLENE Uy 26% by selling the mixture at the cost price. The
o1 2 ) A A e R ratio of water and milk, respectively, in the
mixture is :
(1) 1:4
B 1 1:4
@ 4:5 (2) 5:4
4 1:5 (3) 4:5
(3) I TE T . 4 1:5
(5) Not é.ttempted
95. TH T W 24 WA N 1R F W 2 3#.A. wfy
e H Y ¥ oy BT WO Felt | v 98t |95. A bus moving at a speed of 24 m/s begins to slow
I7 Tt D= ah o at a rate of 3 m/s each second. How far does it go
f ing ?
4 e before stopping ?
1
@ a8, © %s
i ek (2) 48m
@) 727 Sl
5) TR T - .(4) 72m
(5) Not attempted
9%. Al T 85,000 T H UF =ANUR ey R | $&
Y ¥ U % 42,500 % W9 B 79 smw & fire1|96. A began a business with ¥ 85,000. He was joined
T |qﬁaﬁ%mﬂm 3:1%%?@‘}3*3‘[ afterwards by B with ¥ 42,500. For how much
™I, 91 B fa ang ¥ 1 amieR @ o period does B join, if the profits at the end of the
— year are divided in the ratio 3: 1 9
(1) 8 months
(2) 4um
(2) 4 months
(3) 59 '
(3) 5 months
4 6um (4) 6 months
(5) 3w 7 Z =y (5) Not attempted
----'-‘—-—-_-__
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917.

100.

U safh el et &1 76% @d wen R ) g
el 20% &g et @ A a® A @S A W 109, 6
TRl = @ R | 3w "=wa A wQad 2

(1) 50%
10%

DR
<0

4y 137
(5) I A 3 WIE

s Wi sest 6 = 7 15 Fem w, ae 2@ wg
S s g d 1 em w, et @ o
1% ue e ® | e get # pe Readt vead § 2

(1) 8

%,
\

b | - -

=
@ O e

(5) I AE <A1 =R

E:Ma,b,c,d,e,fwm%ﬁiab=l,
bc=%,cd=6,de=2ﬂef=%‘3I(ad:be:cf)
HAA TR ?

(1)
(2)
(3)
(4)

72:1:9
4:3:27
6:1:9
8:9:9
I T &A1 SR

(5)
A #1 A F 5%, B AW *F 15% F T 7
s B # "W F 10%, C 1 I F 20% F

e 2 | afz C &l WS T 2,000, @ A, B a1 C
#1 AWeA %1 AmHa (T °) B

27.

98,

99.

100.

=

A man spends 75% of his income. His incom, is
increased by 20% and he thus also increaseq hig
expenditure by 10%. His savings increased by .
(1) bH0%

(2) 10%

(3) 26%

1
4) 37-%
2

(5) Not attempted

When 15 is included in a list of natural numbers,
their mean is increased by 2. When 1 is included
in this new list, the mean of the numbers in the
new list is decreased by 1. How many numbers
were there in the original list ?

(1) 8

(2) 4

@) b5

4 6

(5) Not attempted

Six numbers a, b, ¢, d, e, f are such that ab = 1,

be = %,cd=6, de = 2 and ef = -1; What is the

value of (ad : be : cf) ? i
(1) 72:1:9

(2) 4:3:27

(3) 6:1:9

(4) 8:9:9

(5) Not attempted

5% income of A is equal to 15% income of B and
10% income of B is equal to 20% income of C.
If income of C is T 2,000, then the sum of the
incomes (in T) of A, Band C is :

(1) 18,000

(1) 18,000
(2) 6,000 @) 6,000
(3) 9,000 (3) 9,000
(4) 12,000 (4) 12,000
(5) 37 9@ 241 drad (6) Not attempted e
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